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The arrangement of the tiles is shown below. To make everything line up, you must create three cubes, one for
each of the square meals. Indexed letters taken in meal order give the answer.

SINVNOSNOD NYHL STAMOA
JHOW SNIYLNOD
=8 =
EE R/ =2
=2 Zs £2
23 Y5, ES
= el
CONTAINS MORE
VOWELS THAN CONSONANTS
9NOTSYILIIT ] SAYINOML W3LI43HLONY HLIM
wsisvaiysi 5 E OINI L1dS 3NV 2 DNINVISHLITHY SIS
=3 2=
g g EZ E | S8 .
IS of > == Zzl28 G Si
5= /5 == & E= O SE|az Co, SE
=i 2) gz |8V N =2~ L < 5o | =5 4 SE
B Q) g XD SE AN £ | 25 - 24
S Sg Q =4 == |23 b LE
N = N 22 S =z g
=2 S=
Sz =
IS LESS THAN EIGHT ISEDBLEWHEN  EE CONTAINS A DOUBLE T CONTAINSTHELETTER“E’
LETTERSLONG CURTAILEDANDREVERSED = LETTER TWICE
g G 43
[P o=
32 3=
STIMOA LN3Y34410 == 4 28
4004 SNIVLNOD = £ S
~ &3 7 ==
=2 = B =2
£2 £ E =
52 < == 2 SE
g2 1, == CONTAINS ALL OF THE CONSONANTS
EE <& ZE FROM ANOTHER ITEM IN ORDER
= =
= ﬁ el
- A
4
ONOTSHILLIT 40 STIMOANYHLSINYNOSNOD TIGYTIAS 30 4300 NI WALI Y3HLONY WOUS
439NN 00O N S1 JHOW SNIVINOD KDV SNIVINGD SLNYNOSNOD JHLA0 TTY SNIVINOY
s |24
oD EE | E8 ~ A ~ =
22 > g2|2 5= SRRE X 53
3z o 22 |22 & Sz < 2 & EE
22 O 2|33 & RojEE O We|E2 %, ==
=S \> 2 | 8L B & E= & EE
gg O sz |28 Yo REIR N 59 <, S
o8 ZS | 28 = 9 k= 04/ g
zz|a
CONTAINS A DOUBLE CONTAINS EXACTLY ISPOISONOUS IF A
VOWEL TWO SYLLABLES TRIGRAM IS REMOVED 4
ONOTSHILIZT 40
o IIWONNIINVSI
£
=3 <IN
EES ==
=% o=
Q4OM LHOHS ¥ NI gk (/‘(\ 23
QLS GHOMONOTY 1 =z %7 £2
e & £S
Z = 38 =]
== =2 =5 ==
== == B
&= O//V =2 REMAINS EDIBLE IF THE
Si=) 4 B3 FIRSTLETTER IS REMOVED
=2 & =2
=4 » Er
=3 =t
= wvs
ALTERNATES VOWELS
AND CONSONANTS
031313051 GN3INONO INYNOSNOY ONOTSHILL3T40 SITAVTTAS OML
YILLITIHLAI GHOM Y 51 18N00 Y SNIVINOY 4IGWNN NIAINY 51 ADVKSNIVINGD
== w
< |32 g
n g2 |22 4 3 2
g EE [ E= 22 X B2 S=
as 22 | Y —= == =
g= N 25 |ZE & EE & 3= % a5
g2 & ES|@=2 ® Funizs & Am|EZ 2% ==
E1- R gE|22 SRS gt <, &=
= s2| g3 22 < =5 > ZE
- Sz |23 = = 2
= a< T S
CONTAINS A DOUBLE HAS AN EQUAL NUMBER OF 15 A BEVERAGE WHETHER 3 0R 4
VOWEL VOWELS AND CONSONANTS ADJACENT LETTERS ARE REMOVED 5
Q40M LYOHS ¥ NI
Q3US3IN GHOMONOTY SI
=
£z
=2 & g2
EE & 22
EE] @\ ey
=34 =
w S ==
==
15 A BEVERAGE IF
BEHEADED




